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QUESTION 1

What statement about Open vSwitch is TRUE?

A. It is a standard virtual switch that can run on any operating system.
B. It can only be configured using Openflow by an SDN controller.

C. It provides tunneling mechanisms, for example: VXLAN.

D. It supports most of the open protocols, for example: OSPF, BGP.

Correct Answer: C

QUESTION 2

If we compare a Nuage Virtual Service Node to a physical service router, which module is VSC mapped to?

A. Switch fabric

B. Line card

C. CPU module

D. Internal clock

Correct Answer: A

The switching fabric is independent of the bus technology and infrastructure used to move data between nodes and also
separate from the router. The term is sometimes used to mean collectively all switching hardware and software in a

network.

Reference: https://searchstorage.techtarget.com/definition/switching-fabric

QUESTION 3

What statement regarding VSC deployment is TRUE?

A. VSC can be deployed in standalone mode or in high-availability cluster mode.
B. VSC can only be installed as virtual machines.

C. VSC is based on SR OS, and thus can be integrated module on the 7750 SR.
D. XMPP is used to synchronize the active and standby VSCs.

Correct Answer: D
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QUESTION 4

Which of the following is NOT Nuage Networks metadata required when creating a virtual machine?
A. Enterprise

B. Subnet

C.VLAN ID

D. User

Correct Answer: C

Reference: https://nuagenetworks.github.io/2016/03/25/Migrating-ESXi-Workloads-to-Nuage.html

QUESTION 5

Which domain can be extended to a 7750 DCI by GRE tunnels?
A. A managed L2 domain.

B. An unmanaged L2 domain.

C. A subnet within an L3 domain.

D. An L3 domain.

Correct Answer: D
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